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lfl1- Angles of Chords, Secants, and Tangents 
If t is the tangent to the circle, find the missing value. 
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Find the missing degree value. 
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Find the missing length value. 

f --- !:tJO 11) I mRT = 80° and mUS = 40°, thenmL1 = _ __.,.fll.-=----

--If mRU = 130° and mTS = 100°, thenmL1 = ~5"0 

,..tz =f. { /Jo J../~o) 
llft't::: 117q 

12) AT is a tangent. 
--- !Do If mCT = 110° and mBT = 50°, then mLA = _ _£i!_:.___ __ 

--If mLA = 28° and mBT = 46°, then mCT = _ __.:Ao.....:vo.....:Z:,___
0
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m~ .2r= t (~-ta) 
/!J;"~ X 

13) PX and PY are tangents. -If mXZY = 250°, then mLP = 7 0 • 

--- a-Av If mXY = 90° , then mLP = _ __.lJ'--"V~-

14) BZ is tangent to circle 0; AC is a diameter; 
....---... ....---... --

mBC = 90°; mCD =30°, and mDE = 20°. 
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mL4= ~S""' 

mL5= 5'5"0 

mL6= IZ>0 

mL7= 15° 
mL&= itJO,q 

mL9= 9'bi1 

mL 10= ~f) 0 
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